N = 0l & AF & F Al A

M BAA
HH: JugA=R 53
tel: HAEA 52 (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
BAHA 7,218,797 6,657,499 561,298
= 2,419,807
AlHI 3,076,303
T4l 1,722,687
Fug2A=X 58 2,209, 160 2,038,388 170,772
= 418,806
AlHI 1,754,254
Tl 36,100
FuEAH s 2,209,160 2,038,388 170,772
= 418,806
AlHI 1,754,254
T4l 36,100
FARAAE WAHH X 385,118 350,107 35,011
= 346,606
AlHI 38,512
307 G12t0lH 385,118 350,107 35,011
= 346,606
AlHI 38,512
02 BIAFHEX 385,118 350, 107 35,011
OBUQAANE HAHSA 385,118,000 385,118
= 346,606
AlHI 38,512
FHURAANE 2 N 1,679,642 1,688,281 A8,639
AlHI 1,679,642
307 2I2tol™ 1,679,642 1,688,281 18,639
Al 1,679,642
02 QItFAEX 1,679,642 1,688,281 18,639
OZAURAANE 2EH XA  1,679,642,000& 1,679,642
AlHI 1,679,642
HUEAHUE(EEE) 29 144,400 0 144,400
= 72,200
AlHI 36,100
T4l 36,100
307 2iz2tol A 144,400 0 144,400
= 72,200
AlHI 36,100
-4l 36,100
05 BIZtRAE =S 144,400 0 144,400
OBUEAHH(EEE) 22Ul X2
144.,400,000& 144,400
= 72,200
AlHI 36,100
T4l 36,100
TeHd sd 4,731,489 4,326,081 405,408
= 2,001,001
Al 1,322,049




M BAA
Fx: A0 58
CHRl: Q2 MHIA S (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
Tl 1,408,439
SIS MHIA By 3,970,960 3,671,713 299,247
= 2,001,001
AlHI 1,284,849
-4l 685,110
Lol FOHQ AL RACALY 130, 120 83,250 46,870
= 65,060
Tl 65,060
307 2120l & 130,120 83,250 46,870
= 65,060
T4l 65,060
01 24 -2l 130,120 83,250 46,870
OLol e 22X X 130, 120,000 130,120
= 65,060
4l 65,060
NS Sat ALHENSE AL 52,250 52,250 0
= 26,125
AlHI 13,062
Tl 13,063
101 el 24l 18,000 18,000 0
= 9,000
AlHI 4,500
T4l 4,500
04 JIZtHZZ2HESE= 18,000 18,000 0
OXASs ALHEHINLMY EX
18,000,000& 18,000
= 9,000
AlHI 4,500
el 4,500
201 Ler249h] 28,250 26,350 1,900
= 14,125
AlHI 7,062
-4l 7,063
01 AtR2telH 28,250 23,350 4,900
OXASs ALHHINLMNE 29
28,250,000& 28,250
= 14,125
AlHI 7,062
T4l 7,063
202 O4Hl 1,500 2,000 A500
= 750
AlHI 375
el 375
01 =LHOHI 1,500 2,000 A 500
OXYAES HALHEMNLAAYE SEHAYI
1,500,000& 1,500
= 750




M BAA
Fx: A0 58
SRl S MHIA S (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
AlHI 375
-4l 375
203 LR =& 1,500 2,000 A 500
= 750
AlHI 375
-4l 375
03 AMH=THIFAHI 1,500 2,000 A500
OXAES HLHEINLAAY HR2FA
1,500,000& 1,500
= 750
AlHI 375
-4l 375
301 LEt24 = 3,000 1,900 1,100
= 1,500
AlHI 750
-4l 750
12 JIet24 =3 3,000 1,500 1,500
OXAEs ALHHMEMNY 243
3,000,000& 3,000
= 1,500
AlHI 750
T4l 750
=H3cd 24 153,344 176,060 AN22,716
= 76,672
AlHI 76,672
101 el 24| 70,000 70,000 0
= 35,000
AlHI 35,000
04 JIZtHZE2NSE=> 70,000 70,000 0
O=g3cd 23 70,000,000& 70,000
= 35,000
AlHI 35,000
201 Let2E] 23,344 53,560 230,216
= 11,672
AlHI 11,672
01 AtR2telH 23,344 43,560 N20,216
O2g3cd 23 23,344,000 23,344
= 11,672
AlHI 11,672
202 O4dl 2,000 2,500 A 500
= 1,000
AlHI 1,000
01 =LHAOYI 2,000 2,500 A 500
Oz Z3cd &0l 2,000,000& 2,000
= 1,000
AlHI 1,000
203 YR=AH] 1,000 2,000 ~1,000




M BAA
B 2012
cHel: oA e L
= M . CLO| (5 HEAY . N2 A} OH HEE =}
= 500
AlHI 500
03 AIMFXH &Y 1,000 2,000 A 1,000
OgdEely g2x=d 1,000
= 500
AlHI 500
301 et2 4= 3,000 5,000 A2,000
= 1,500
AlHl 1,500
12 JIEtE 43 3,000 5,000 A2,000
SHE3T B4 3,000
= 1,500
AlH] 1,500
307 oIzt 50,000 40,000 10,000
= 25,000
AlHl 25,000
01 Sl 2¥ =2l 50,000 40,000 10,000
OzHZeld 50,000,000& 50,000
= 25,000
AlHl 25,000
405 XH&HFESHI 4,000 3,000 1,000
= 2,000
AlHI 2,000
01 ML ESFH 4,000 3,000 1,000
Oz3HEelE 4,000
= 2,000
AlHl 2,000
S| H & stXF 2l Z Hl XI& 823,744 844,584 A 20,840
= 411,872
Altl 411,872
307 823,744 844,584 220,840
= 411,872
AlHI 411,872
05 823,744 0 823,744
823,744,000 823,744
= 411,872
AlHl 411,872
JH DI 2,500 2,909 A409
= 1,250
AlHI 625
-l 625
201 2,240 2,659 A419
= 1,120
AlHI 560
-l 560
01 A2 2,240 2,659 A419




M BAA
Fx: A0 58
CHRl: Q2 MHIA S (98
— — XN LH =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oflﬂg‘g BlusZ
O2R+"2clY ME2Z 2,240,000& 2,240
= 1,120
Al 560
Tl 560
203 ¥ =&l 260 250 10
= 130
Al 65
-4l 65
03 A=A HSZ=LH| 260 250 10
ORR=R3cd R 260,000 260
= 130
AlHI 65
24l 65
Yo 2 Oots A2 52,235 55,572 N3,337
= 26,117
AlHI 13,059
T4l 13,059
307 2120l & 52,235 55,572 N3,337
= 26,117
AlHI 13,059
Tl 13,059
01 A2 F =4 46,975 50,312 N3,337
Ooges F=2M ¢ 46,975,000& 46,975
= 23,487
AlHI 11,744
Tl 11,744
05 BIZtRE = 5,260 5,260 0
OBE 2A=22d4+8 Nz 5,260,000 5,260
= 2,630
AlHI 1,315
-Hl 1,315
AR - A0 =201 XA 177,976 150,941 27,035
= 142,380
AlHI 17,798
Tl 17,798
307 QI2t0ld 177,976 150,941 27,035
= 142,380
Al 17,798
T4l 17,798
05 2IIRAE S 177,976 150,941 27,035
O&tR - AMOtE= 0| XI& At
177,976,000 177,976
= 142,380
AlHI 17,798
Tl 17,798
GASAHA A 67,708 97,180 AN29,472
= 33,854
AlHI 16,927




M BAA
Fx: A0 58
CHRl: Q2 MHIA S (98
_ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
Tl 16,927
101 Q1A 19,500 19,500 0
= 9,750
AlHI 4,875
-4l 4,875
04 JIZtHZE2NSE=> 19,500 19,500 0
OYuR U IR0 SLEHAAY SREX
19,500,000& 19,500
= 9,750
AlHI 4,875
T4l 4,875
201 LetEd] 2,200 5,500 23,300
= 1,100
AlHI 550
T4l 550
01 AtS2t2ibl 2,200 5,500 23,300
Ogas U JR0t FAEHA MPERS
2,200,000 2,200
= 1,100
AlHI 550
T Hl 550
202 O 1,000 500 500
= 500
AlHI 250
Tl 250
01 =Y 1,000 500 500
OYarR U R0t SAEHAAMY SHOH
1,000,000& 1,000
= 500
AlHI 250
Tl 250
203 YR=AH] 300 0 300
= 150
Al 75
Tl 75
03 AMH=THIFAHI 300 0 300
OZLEAANY H2FZ 300,000 300
= 150
AlHI 75
-Hl 75
307 2I2tol™ 43,408 71,680 N28,272
= 21,704
AlHI 10,852
Tl 10,852
01 A2 F =4 42,408 70,680 N28,272
OgdEsAE 7Y 42,408,000& 42,408
= 21,204
AlHI 10,602




M BAA
Fx: A0 58
SRl S MHIA S (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
Tl 10,602
05 BIRIES 1,000 1,000 0
OgEn & LA u= 1,000,000& 1,000
= 500
AlHI 250
Tl 250
405 KH&HESHI 1,300 0 1,300
= 650
AlHI 325
T4l 325
01 ML ESF=H 1,300 0 1,300
O=32ZOtct, = ES S 1,300,000& 1,300
= 650
Al 325
T4l 325
HHE A0l BAH & S0t 52,068 55,793 N3,725
= 26,034
Al 13,017
Tl 13,017
307 2120l & 52,068 55,793 N3,725
= 26,034
AlHI 13,017
Tl 13,017
01 A= =H 52,068 55,793 N3,725
OdEY UAIOIS HA & BH0F2tel
52,068,000& 52,068
= 26,034
Al 13,017
Tl 13,017
Ol=0t & L0140t 2l=H X 94,823 82,619 12,204
= 47,411
Al 23,706
T4l 23,706
307 2120l & 94,823 82,619 12,204
= 47 411
AlHI 23,706
Tl 23,706
01 A= =H 94,823 82,619 12,204
ODI=0t & d&-olator o 2Hl X
94,823,000 94,823
= 47,411
Al Bl 23,706
-4l 23,706
g - [0 AZBIAL 6.722 7,790 A 1,068
= 5,458
AlHI 1,264
201 Let2E] 901 531 370




S B2
s 0l
ciel: o2

SA - =BG (3) - MR A

[
2

20
B
2

= 721
Al 180

01 Al=2telt 901 531 370
OYROoIALAX =22 X 901
= 721
Al 180

307 BI2H0IN 5,821 7,259 A 1,438
= 4,737
Al 1,084

01 Sl2y Rz 400 0 400
OL LA O0LE SAY| 400
= 400

05 Q1222 5,421 7,259 A 1,838
OY R0t 2 A Y| 5,421
= 4,337
Al 1,084

AIMOF B2t A AL 6,560 6,560 0
= 3,280
Al 1,640
2| 1,640

307 BI2H0IH 6,560 6,060 500
= 3,280
Al 1,640
2| 1,640

01 9gxnat| 6,560 6,060 500

QA0 HZLMHAA &

6,560
= 3,280
Al 1,640
2| 1,640

UXIIHE ALY 343, 124 340,348 2,776
= 171,562
Al 171,562

101 @214 13,600 13,600 0
= 6,800
Al 6,800

04 JIAHZERS B4 13,600 13,600 0
OYZIATAIY AREE 13,600,000 13,600
= 6,800
Al 6,800

201 Lure gyl 3,000 2,000 1,000
= 1,500
Al 1,500

01 AtR2teltl 3,000 2,000 1,000
OYZINATAY 29 3,000
= 1,500




M BAA
Fx: A0 58
el A MHIA &4 (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
AlHI 1,500
203 ¥E =&l 500 300 200
= 250
Al 250
03 AMH=THIFAHI 500 300 200
O=INZIANY d2FZ 500,000& 500
= 250
Al 250
307 21201 & 326,024 324,448 1,576
= 163,012
AlHI 163,012
05 BIZtRE S 326,024 324,448 1,576
OLXRINIZEAS A&Hl g 326,024,000 326,024
= 163,012
AlHI 163,012
i =sdl X& 592,024 599,464 AT,440
= 296,012
AlHI 148,006
-4l 148,006
307 2120l & 592,024 599,464 AT,440
= 296,012
AlHI 148,006
T4l 148,006
01 92+ =HI 592,024 599,464 AT,440
Og&ti 2=8l K& 592,024,000& 592,024
= 296,012
AlHI 148,006
Tl 148,006
gEIANY HAULP JIZHMIZI 8,000 8,000 0
AlHI 4,000
-l 4,000
101 el 24| 8,000 8,000 0
AlHI 4,000
T4l 4,000
04 JIZtMIZ2XHsSE = 8,000 8,000 0
Og2elMg A 8,000,000& 8,000
Al 4,000
T4l 4,000
e, MOHMED| HAECALY 13,906 14,227 A321
= 11,136
AlHI 2,770
201 ZetEEl 328 328 0
= 262
AlHI 66
01 AtR2teld] 328 328 0
OQHUIfAE)] ALTHAY B2 328,000& 328

_9_




M BAA
= poAY =8
Sl Q2 AHIA EA (e E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° . [= Bl e =5 0:”/‘l|_% Lsa
=2 262
AlHI 66
307 212t01& 13,578 13,899 A 321
= 10,874
AlHI 2,704
01 Sl 2¥ =2l 538 859 A 321
OdlHst 443 HA&Hl K= 538,000& 538
= 438
AlHI 100
05 CIZtRAEZ 13,040 13,040 0
QMO &2 AR At J&H 6
13,040,000& 13,040
= 10,436
AlHI 2,604
HUAREAE HA=F A= N2AS 203,608 173,440 30, 168
= 101,804
AlHI 50,902
4l 50,902
101 elH| 9,300 9,300 0
= 4,650
AlHI 2,325
-l 2,325
04 JI2ZtMZ22XSE+ 9,300 9,300 0
OSURREXNINY dREX 9,300,000& 9,300
= 4,650
AlHl 2,325
-l 2,325
307 S12t01& 194,308 164,140 30, 168
= 97,154
Al 48,577
4l 48,577
01 A= =H| 194,308 164,140 30, 168
OMea+=&AI=8l XA 194,308, 000& 194,308
= 97,154
AlHl 48,577
4| 48,577
HURRANE AB=FA=HIXIA MY 136,802 0 136,802
= 68,401
AlHl 34,200
el 34,201
307 212t01& 136,802 0 136,802
= 68,401
AlHI 34,200
el 34,201
01 2L =H| 136,802 0 136,802
Ocls=d A=t XA 136,802, 000& 136,802
= 68,401

_10_




M BAA
Fx: A0 58
CHRl: Q2 MHIA S (98
_ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
AlHI 34,200
Tl 34,201
LREA(AIH]) ALY 37,837 41,308 A3,471
Al 11,351
Tl 26,486
201 LEH2 | 9,000 9,000 0
AlHI 2,700
Tl 6,300
01 AtR2teld] 9,000 9,000 0
OUEA E222AE 23 9,000, 000& 9,000
AlHI 2,700
Tl 6,300
202 ol 2,000 2,000 0
Al 600
Tl 1,400
01 2SI 2,000 2,000 0
OUZAl &222HAE S&0Hl 2,000,000 2,000
AlHI 600
Tl 1,400
203 g =&lH| 800 1,000 A 200
AlHI 240
T4l 560
03 AIMF=XHRSZ=LH| 800 1,000 A 200
OUSAl LH2EAHAY SRFH 800, 000& 800
AlHI 240
Tl 560
301 LetEd= 4,000 4,000 0
AlHI 1,200
-l 2,800
12 JIEt24S 4,000 4,000 0
OUZAl SBE22HAE TS AL &S
4,000,000& 4,000
AlHI 1,200
THl 2,800
307 2I2H0l™ 20,537 21,208 ABT1
AlHI 6,161
Tl 14,376
01 A= =H 20,537 21,208 ABT1
OUZA &222HAE 28 225 #¢
20,537,000& 20,537
AlHI 6,161
el 14,376
405 XtobE SHI 1,500 4,100 A2,600
AlHI 450
-4l 1,050
01 ML ESF=H 1,500 4,100 A2,600

_11_




M BAA
Fx: A0 58
CHRl: Q2 MHIA S (98
_ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
OrutgsEE B=H 2 1,500,000& 1,500
Al 450
Tl 1,050
XEE LA 22 AL 343,079 283,560 59,519
= 171,539
AlHI 86,070
Tl 85,470
101 el 24l 322,336 282,360 39,976
= 161,168
AlHI 80,584
T4l 80,584
04 JIZHMIZ2XNSE =+ 322,336 282,360 39,976
OUEE U2BA22ANY HREX
322,336,000 322,336
= 161, 168
AlHI 80,584
24l 80,584
201 LEH2HH| 1,200 1,200 0
= 600
AlHI 600
01 AtS2t2iHl 1,200 1,200 0
OXNASAX W= 1,200,000& 1,200
= 600
AlHI 600
307 QI12+0lH 19,543 0 19,543
= 9,771
AlHI 4,886
T4l 4,886
01 SI2€ =l 19,543 0 19,543
OMItg 2t A 2tel 19,543,000 19,543
= 9,771
Al 4,886
Tl 4,886
HELQEHI X 1,250 1,250 0
AlHI 1,250
307 2l2tol™ 1,250 1,250 0
Al 1,250
01 =22 F = 1,250 1,250 0
OHHLoBHI| X 1,250,000& 1,250
AlHI 1,250
XNOH&EEH 22 5,000 5,000 0
AlHI 5,000
201 LEt=EH| 1,500 1,500 0
AlHI 1,500
01 AFR22IH 1,500 1,500 0
OXagdE =2 1,500,000& 1,500

_12_




M BAA
Fx: A0 58
SRl S MHIA S (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
AlHI 1,500
307 Q12t0lH 3,500 3,500 0
AlHI 3,500
01 SI2€ 2l 3,500 3,500 0
OXaEdH 25 225 2 3,500,000 3,500
AlHI 3,500
Srg2EE ol 6,000 6,000 0
= 3,000
Tl 3,000
201 LEt=2EH| 2,400 2,600 A 200
= 1,200
24l 1,200
01 AtR2teld] 2,400 2,600 A 200
Odzgzda olgze 2¢ 2,400,000& 2,400
= 1,200
T4l 1,200
202 04 Hl 400 400 0
= 200
T4l 200
01 =LHAOYI 400 400 0
Orzelgedd =0yl 400,000& 400
= 200
24l 200
203 YR=AH] 1,200 1,000 200
= 600
-4l 600
03 A=A HISE=LH| 1,200 1,000 200
OaLigada AHRFA 1,200,000& 1,200
= 600
Tl 600
301 LetEd= 500 500 0
= 250
Tl 250
12 JIet24 = 500 500 0
OaLgaTE ole2elAd 500,000& 500
= 250
Tl 250
307 2120l A 1,500 1,500 0
= 750
Tl 750
01 A=Y F = 1,500 1,500 0
Odgade oz 228 2 1,500,000 1,500
= 750
-4l 750
KA BFEAHIA ZAMHRAS 48,570 39,168 9,402

_13_




M BAA
Fx: A0 58
CHRl: Q2 MHIA S Pkl
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES &hoh @Eiﬁ =
= 24,285
Tl 24,285
201 LEH2HH| 1,000 1,000
= 500
-4l 500
01 AFR2t2iHl 1,000 1,000
OXIYAS SEEHTAZAIMATS 29
1,000,000& 1,000
= 500
Tl 500
203 YR=AH] 500 500
= 250
Tl 250
03 A=A HSZ=LH| 500 500
OXLAS] PEHIAZAIMATRE AIMFT
500,000& 500
= 250
24| 250
307 212tol & 47,070 7,902
= 23,535
T4l 23,535
05 BIZtRAEZ 47,070 7,902
OXHA2 AL AL 47,070,000& 47,070
= 23,535
-4l 23,535
o ES(A4SHI)AS 200,504 0
= 100,252
AlHI 50,126
el 50, 126
307 QI12t0lH 200,504 0
= 100,252
AlHI 50,126
T4l 50,126
01 SI2€ -2l 200,504 0
ougEs(2Ad4 HI) At
200,504,000 200,504
= 100,252
AlHI 50,126
24l 50, 126
HYEESSSHH 29 19,825 0
= 9,912
AlHI 9,913
101 1A H] 19,825 0
= 9,912
AlHI 9,913
04 JIZHMIZ2XNSE =+ 19,825 0
OlYBESS=dE 2gEX 19,825,000 19,825

_14_




M BAA
Fx: A0 58
CHRl: Q2 MHIA S (984
_ = FSRE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
= 9,912
AlHI 9,913
MUES(HAY) AL 235,552 235,552 0
= 17,776
AlHI 58,888
24l 58,888
307 2120l & 235,552 235,552 0
= 117,776
AlHI 58,888
Tl 58,888
01 A2 F =4 235,552 235,552 0
OEAZRE S 235,552,000 235,552
= 17,776
AlHI 58,888
T4l 58,888
Giolx & S0l 5,080 5,080 0
= 2,540
AlHI 2,540
307 2120l & 5,080 5,080 0
= 2,540
AlHI 2,540
01 A= =H 5,080 5,080 0
Od8AHAIS 2¢ 1,980,000& 1,980
= 990
AlHI 990
OOloI =& Al 2 3,100,000& 3,100
= 1,550
AlHI 1,550
dEAEY JEHAMY 13,200 13,300 A 100
= 6,600
Al 6,600
307 GI12told 13,200 13,300 A 100
= 6,600
Al 6.600
01 A= =4 13,200 13,300 A 100
OHYELAIS 2 13,200,000& 13,200
= 6,600
AlHI 6,600
g2ad2el U-Health =& 1,360 1,360 0
AlHI 1,360
307 2l2told 1,360 1,360 0
Al Bl 1,360
02 QItFAE X 1,360 1,360 0
OogrEAdd 22| UHealth =& 1,360,000& 1,360
AlHI 1,360
X0 EIIZZ ALY 16,762 0 16,762

_15_




SN
X XH .
S Tt

ok

SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 gl,liafg Blusz
= 8,381
AlHI 8,381
307 212+0| ™ 16,762 0 16,762
2 8,381
AlHI 8,381
01 92YLTEH| 16,762 0 16,762
OXIOH EJNIZAE At 16,762, 0002 16,762
2 8,381
AlHI 8,381
X0 XEH 22X 84,576 0 84,576
=2 42,288
AlHI 42,288
307 212+0| ™ 84,576 0 84,576
= 42,288
AlHI 42,288
01 92YLREH| 84,576 0 84,576
OXIOH XIZ2Hl 2eIX 84,576,000 84,576
2 42,288
AlHI 42,288
S2xEL 2Y 25,701 16,443 9,258
101 ©12AH| 13,451 13,483 A32
04 JIARZENSES 13,451 13,483 ~32
OolssexEY 2% 13,451
- ol 55,0002 * 121802 9,900
CER 55,0008 * 12 +362 1,980
by 55,0002 124 *8 440
- 2eIEE PYZ 12,320,008 4.5% 555
- NERE Rua 12,320, 0009 *1. 3% 161
SAHEE ReE 12,320,000 0. 7% 87
2pAEE FEI 12,320,0008 +2.54% 313
COIRIQYEE P 313,000 <4.78% 15
201 Y2 t| 500 500 0
01 At222/HI 500 0 500
OS2INEL ZHIRX 500,000 500
307 212+0| A 750 700 50
01 22YLRZH| 750 700 50
O22X24 ABL2E 7Y 750
IISHRIXNEI WE 15,0002 * 1574 225
®o|g 25,0002 *157H 375
NFEMREI HE 10,000 *107H 100
Holds 25,0008 *204 50
405 Xt&HE Sl 11,000 1,760 9,240
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M BAA
Fx: A0 58
CHRl: Q2 MHIA S (98
SA-EFH - SA(SAH) - MREAY - BES Off &F K gggfg BlusZ
01 MR ESF=H 11,000 1,760 9,240
O=clisd 2=J| uwH 11,000
AEIAEFR X2 11,000,000 = 1CH 11,000
SAEHAE 9,150 11,340 A2,190
201 et 6,640 6,550 90
01 AtR2teld] 5,500 5,350 150
ORXEHAY 222 M 1,700
DQUEAAY HU(EQ, =24) SA
300:& *4,0000HK 1,200
FF0t OlzAl M} 2,500& 100 250
PE s 2,500& x100& 250
ORXEA ZAE 3,800
ERANTES 100,000& «322] 3,200
ObJ10I 4!, DOFARAl & 100, 000& ~62] 600
02 3323l 1,140 1,200 260
OYgLF =SWIIA RAEx 950,000 *1CH 950
Og=0t MMAZI RXE+ 190,000 »1CH 190
307 2120l & 2,510 4,790 N2,280
01 A= =H 2,510 4,790 N2,280
OZNE2HMNY 2A2=2E 7Y 510
A ALK 6,000&*10S 60
DOHEA 2 25,0003 +10S 250
DEEH2H A& 10,000& »20= 200
Og R0t SSM +& 20,000& 100 2,000
dFd e 189,770 189,479 291
AlHI 37,200
T4l 152,570
AEgsad X2 37,200 28,800 8,400
Al 37,200
206 M=l 37,200 28,800 8,400
AlHI 37,200
01 M=Hl 37,200 28,800 8,400
Os FUisgddd & 37,200,000& 37,200
AlHI 37,200
LAY 145,726 153,842 N8, 116
101 Q1] 65,438 61,185 4,253
04 JIAHZ 2SS E= 65,438 61,185 4,253
o4 65,438
oI 43,771 +7H*150 45,960
=Xt 43,7713 x7E*30L 9,192
- Xt 43,771 +7H+7L 2,145
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M BAA
HMm: 0y =2
ool gz (cel @
S BB SR (B) - NEAY - BAS 0f & o Soe DB
=y 5,000 «7E x40 1,400
-l =EE RES 57,297,000 *4.5% 2,579
- IEEE RE= 57,297,000 *1.3% 745
AMHEE 2E=S 57,297,000 *3. 3% 1,891
- DUAAEE FYS 57,297,000 <2.54% 1,456
LA EE 2ES
1,456,000% *4.78% 70
201 et 6,105 6,605 A 500
01 AtR2teld] 3,605 3,605 0
OgAQRESH P 7Y 50,0003 7 22 700
Ogdieg 2dd 24 7,000& 18 x40 280
OYHAR 24 2,5003 »7E %150 2,625
02 S5=2gH| 2,500 3,000 A500
Ogd &t RAEx 2,500,000& 2,500
206 M= dl 72,183 85,052 A 12,869
01 M= 4l 72,183 85,052 212,869
OXtgatas 9,888
B 30,000& =1.62| E+802 3,840
ez 1,630& *32| £ %802 392
a7 1,414 +502| £ #8038 5,656
O=slE doa= 3,536
S 30,000& *0.042| &1 %5002] 600
= 1,630& » 12 & 5002 815
3R 1,4143 «32| & +5002] 2,121
OxgsH2R 11,071
ULver = 30,0002 #1.52I & 100! 4,500
ULval gtz 1,630& +1.52| E1 %1002 245
SHERAS 30,000& =22/ & *1002] 6,000
SHERAEYR 1,630& *22| & %1002 326
OSSR A4S 30,000& x0.092| & +7,000=! 18,900
O=EHH 12,000,000 12,000
OJIEt A2F 2,000,000& 2,000
O=gsegsd X 14,788
a8 1,4142 3002 A * 160 = 6,788
B 500,000& =161 = 8,000
A&k =4 2,000 1,000 1,000
AR =S FHSHI 2,000 1,000 1,000
O&s UV 7 350,000 *2CH 700
OAHYARAS)| 2L 650,000 »2CH 1,300
A O YA 6,844 6,837 7
elals] 3,004 2,997 7
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SN
X XH .
S Tt

ok

X

(i}

2t =
[= )
(=
29

CHB L GRI(EN) - MRAY - BES sy e 52
OXd EHI=X 5,000
X HED| 1,000,000& 1,000
X 2HED| 2,000,000& 2,000
2SS 2,000,000& 2,000
OYMNe 28X & 510
Xt 2 2tE D) 180,000& 2CH 360
ABE X LdHEX 150,000& 1 CH 150
OB AMEHl =& = Xld| 4,000
2015 ZALEHI 2,000,000& 2,000
AANY TS L MY B
2,000,000& 2,000
gIztol & 298,935 307,770 A8,835
2=l 298,935 307,770 AN8,835
OgiEssts: 7Y 5,160
SERRIUZ 4F 3,600& 100 «42] 1,440
A=A AHISE 5,000& 100 500
AUNE 4F 1,400& #2,300& 3,220
OgMd EE 7Y 10,750
xE 105,000& 255 A 2,625
HE 77,0003 1002 7,700
RSl 55,000 & #52F A 275
SRS 30,0003 58+ A 150
ongssss 205,463
-BE 2t¥ 11,688
- A0l 2,7503 250 688
-hel 5,500&+2,000& 11,000
RHLd=EE4 7,900& 50 395
HEIFA 4,900& *1,200H 5,880
=P, 7,500& #25,000& 187,500
og=4dg 3,200& *1,500H 4,800
OouHgEss 225 2,310
121 FAHI 110& %15, 0004 1,650
- EES 4,400 «150= Xl 660
OZatdc| A - 69,190
LotAZ A 6,000& *1,5004 9,000
2HE H AL 2,020
-BE 2 1,000&+1,5004 1,500
-8 21 4,000& 1304 520
21 S3 A 4,390
-2B1s 113 9,300& %300 2,790
-2B1s 28 2,000& *80024 1,600
HEHER X MSHA 21,000
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M BAA
Z@: 2ol B
cel 244 29 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
- HEIFA 1,000& %20,000 20,000
- 2dict E AS=S 1,000& *1,0004 1,000
2 ZHAH(165) 32,780
-EddAat 7102 10,0002 7,100
- H=H A 3503 +3,500 1,225
-IH=SEEL B A 2,870& 504 144
- dEZA 800& 1504 120
- STDE & At 1,000& *2,4004 2,400
-EAREHAM 2003 3004 60
-=2gA 2,000& x120A 240
- A 2703 %1504 41
- A EA 2,550% 200 510
- FA S A 6,000& 1504 900
- SctOICIotE At 5,500&%2,400 13,200
-HOLE I AHISH A 3,500 500 1,750
- SSdAHEZAM 700& +700A 490
- QI HA 1,000&+1,000 1,000
- OO =& At 2,000&+1,800A4 3,600
OgagelamMN A8LEE P 1,262
C2ES 6,600 *70= 462
1218 FEFAI 1002 *8, 000K 800
405 XtotE SHI 112,400 7,500 104,900
01 Mt ESFSHI 112,400 7,500 104,900
OE=AN=EEH® 7Y 200,000& = 1CH 200
OugsJIIETI 7+ 16,000,000 ~1CH 16,000
O NE 41 7Y 600, 0003 *2CH 1,200
Odstet24 ) e 95,000,000 = 1CH 95,000
HE2IHH(EAL) 278,148 293,030 A14,882
I8 2 213,204 214,742 A 1,538
el 2EH| 213,204 214,742 A 1,538
101 el H] 203,604 205,142 A 1,538
02 JIetR 2= 203,604 205,142 A 1,538
O2Adx MY A A 203,604
(SR=s 130,262
-Jt2(¢S Dtotste) 43,189,000 x2H 86,378
LS (¢S Chatste) 43,884,000 1 43,884
&= 1,440
- B X+ 40,000 x3H * 122 1,440
SR =] 42,756
- s 1,295,000& »2H 123 31,080
= 973,000 x1E +12& 11,676
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M BAA
ME: BHSYA (BAL)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Sc|l =4 7,467
- WG A 130,000& »3E x12& 4,680
- HOtE A 130,262,000 *70%*11/360 2,787
- Mg 2| 12,600
-Jls 400,000 x2H x 128 9,600
-U= 250,000 x 18 128 3,000
e 9,079
= 8,360 x2& x30A[ 2t+12E 6,020
- U= 8,405 x 18 «30A| 2tx 123 3,059
203 ¥ =&l 9,600 9,600 0
01 D22 HRF2aH| 3,000 3,000 0
Ol 22dd2 =8| 3,000,000& 3,000
02 ZEIMIMMPLZ=AH| 1,680 1,680 0
OF3Attg 2=a| 1,680,000 1,680
04 BEAN2SHRFAH 4,920 4,920 0
ORN2IHR2F2a| 4,920,000& 4,920
=38l 64,944 78,288 N 13,344
Jl=&8l 64,944 78,288 N 13,344
201 et 52,744 46,588 6,156
01 AtR2teld] 37,084 38,488 1,404
Ogasd 50,0003 »2H 115 11,500
OAd=s 2g 15,000& »40E 600
ORANZ2E =+t 14,040,000 *90% 12,636
OJlz2gR=4d S| 12,348,000& 12,348
02 3323l 15,660 8,100 7,560
OFUE A= 45,0003 20 =12 1,080
oRE= 4,500,000 4,500
OBAHEBANAY RXNE 840,000& »12& 10,080
202 Oddl 12,200 12,200 0
01 =LHOYI 12,200 12,200 0
OXZ ZA=F 0 5,000,000& 5,000
O2AM JI=gdR+2 dHl 200,000&~3H«12& 7,200
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